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9 100kN/mM##BZ % 1.00/ 000 ~ 256 140.13|3mZEBZB| - ~ - - -| 100kN/MZE#B 2% 1.00| 1054 ~ 21.60 140.13|3m%i#BZ % -~ - - -
ZThES 1.00] 256 ~ 10.34 100.00] Zhust 000 ~ 10.34| 2.74 14.66 ZTh LSt 1.00] 500 ~ 1054 100.00f Zh it | 500 ~ 21.60| 2.74 14.66
10 100kN/mM#%# 8% % 1.00/0.00 ~ 230 135.89|3mZi#BZRB| - ~ - - -| 100kN/iZi#8 % % 1.00| 1054 ~ 19.80 135.89|3m%i#BZ % -~ - - -
ZTh LS 1.00/ 2.30 ~ 10.09 100.00] Zh st [ 0.00 ~ 10.09] 2.40 12.82 Zh LS 1.00] 500 ~ 1054 100.00f Zh it | 500 ~ 19.80] 2.40 12.82
9 100kN/mM#%# 8% % 1.00/ 000 ~ 193 129.83|3mZi#BZRBH| - ~ - - -| 100kN/iZi#8 % % 1.00| 1053 ~ 17.60 129.83|3m%i#BZ % -~ - - -
ZhLS 1.00] 193 ~ 972 100.00] #hlist | 000 ~ 9.72] 239 12.81 Zh LS 1.00] 500 ~ 1053 100.00f #hlist | 500 ~ 17.60] 2.39 12.81
3 100kN/mM#%#BZ % 1.00/ 000 ~ 2.16 133.54|3mZi#BZRB| - ~ - - -| 100kN/iZi#8 % % 1.00| 1056 ~ 18.81 13354|3m%i#B% % -~ - - -
ZThLS 1001216 ~ 995 100.00] Zh st 000 ~ 995 242 12.95 Zh LS 1.00] 500 ~ 1056 100.00| Zh it | 500 ~ 18.81| 242 12.95
4 100kN/mM#%# 8% % 1.00/0.00 ~ 098 114.72|3mZ#BZRB| - ~ - - -| 100kN/iZi#8 % % 1.00| 10.74 ~ 13.65 114.72|3m%#BZ % -~ - - -
ZTh LS 1.00/ 098 ~ 877 100.00] #hlist | 000 ~ 8.77] 229 12.27 Zh LS 1.00] 500 ~ 10.74 100.00| Zhlist | 500 ~ 13.65| 2.29 12.27
5 100kN/mM#%# 8% % 1.00/ 000 ~ 1.86 128.60|3mZi#BZBH| - ~ - - -| 100kN/iZi#8 % % 1.00| 1054 ~ 17.17 128.60|3m%i#B% % -~ - - -
ZhLS 1.00] 186 ~ 964 100.00] Zhlist | 000 ~ 9.64] 241 12.87 Zh LS 1.00] 500 ~ 1054 100.00f Zhlist | 500 ~ 17.17] 2.41 12.87
6 100kN/mM##BZ % 1.00{0.00 ~ 1.23 118.66|3m%HE %% -~ - - -| 100kN/ %8z % 1.00| 10.56 ~ 14.58 118.66|3m%E %% -~ - - -
ZnLst 1.00] 1.23 ~ 9.02 100.00] Zh st |0.00 ~ 9.02] 2.15 11.50 Zzh st 1.00f 500 ~ 10.56 100.00f Z1List | 500 ~ 1458 2.15 11.50
7 100kN/mM##BZ % -l -~ - -|amzEZB| - ~ - - -| 100kN/ %22 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00{ 0.00 ~ 6.30 79.14] zh st | 000 ~ 6.30] 1.84 9.86 Zh st 1.00f 500 ~ 7.50 79.14] Zhlst | 500 ~ 750 1.84 9.86
8 100kN/mM##BZ % -l -~ - -|3mzEZB| - ~ - - -| 100kN/MZE#BZ 2 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00] 0.00 ~ 458 5711 Zhli4t | 000 ~ 458| 1.94 10.40 Zh st 1.00f 500 ~ 5.20 5711 Zh iy | 500 ~ 520 1.94 10.40
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